Real Instanteneous Utility=
"Utility ( u )" * Exponential Discounting t
~ Util / Year

Chge in Cummulative Consumption=

"Consumption ( C )" / Time to Chge Cumulative Consumption

~ Dollar/Year/Year

Chge in Cummulative Income=
"Labor Income ( Y )" / Time to Chge Cummulative Income
~ Dollar/ (Year*Year)

Chge in Cumulative Saving=
Saving / Time to Total Saving

~ Dollar/ (Year*Year)
~ |
Saving=
"Labor Income ( Y )" - "Consumption ( C )"
~ Dollar/Year

Time to Chge Cummulative Income=
1
~ Year

"Consumption ( C )"=
IF THEN ELSE (Time = INTEGER (Time), "Current Consumption
TIME STEP)/Time to Chge Last Consumption
"Current Consumption ( C )"
)
~ Dollar/Year

Cummulative Income= INTEG (
Chge in Cummulative Income,
Initial Cummulative Income)
~ Dollar/Year
~ ~ : SUPPLEMENTARY

Cumulative Consumption= INTEG (
Chge in Cummulative Consumption,
Initial Cumulative Consumption)
~ Dollar/Year

Cumulative Consumption plus Saving=
Cumulative Saving + Cumulative Consumption
~ Dollar/Year
~ ~ : SUPPLEMENTARY
|

Cumulative Saving= INTEG (
Chge in Cumulative Saving,
Initial Total Saving)
~ Dollar/Year

Initial Total Saving=
0
~ Dollar/Year

+

(Last Consumption *\



"Current Consumption ( C )"=

"Marginal Propensity to Consume out of Labor Income = alpha" * "Labor Income

+ "Marginal Propensity to Consume out of Wealth = beta"
* "Wealth (W )"
~ Dollar/Year

Initial Cumulative Consumption=
0
~ Dollar/Year

Time to Total Saving=
1
~ Year

Initial Cummulative Income=
0
~ Dollar/Year

Time to Chge Cumulative Consumption=
1
~ Year

Time to Chge Last Consumption=
1
~ Year

Current Consumption=
IF THEN ELSE(Time <= FINAL TIME - 2*TIME STEP, ("Consumption ( C
~ Dollar/Year

"Labor Income ( Y )"=

"Normal Labor Income (Y)" * (1 - Retirement Switch) * (1 + O*STEP(0.1,30))

~ Dollar/Year

"Marginal Propensity to Consume out of Labor Income = alpha"=
0.2
~ Dmnl

"Marginal Propensity to Consume out of Wealth = beta"=

0.2
~ Dmnl/Year
~ |
"Wealth ( W )"= INTEG (
"Labor Income ( Y )"- Current Consumption - Last Consumption,
"Initial Wealth ( W )")
~ Dollar

Lifetime Utility=
IF THEN ELSE (Time >= FINAL TIME,"Real Lifetime Utility ( U )",0)
~ Util
~ ~ : SUPPLEMENTARY



"Real Lifetime Utility ( U )"= INTEG (
Real Instanteneous Utility,
"Initial Real Lifetime Utility (U)")
~ Uutil

"Utility (u )"=

IF THEN ELSE ("Coefficient of Relative Risk Aversion ( p )" = 1, IF THEN
ELSE ("Consumption ( C )"
0, 0, 1n (
"Consumption ( C )" / Normal Consumption)
) * Util per Year
, ((( "Consumption ( C )"
/ Normal Consumption) »~ (1 - "Coefficient of Relative Risk Aversion ( p )" )) / (1\
- "Coefficient of Relative Risk Aversion ( p )"
)) * Util per Year )
~ Util / Year

Chge in Exponential Discounting t 1=
-IF THEN ELSE (Time = INTEGER (Time), ( Exponential Discounting t - Exponential
Discounting t 1\
) / TIME STEP, 0)

~ Dmnl/Year
~ |
"Coefficient of Relative Risk Aversion ( p )"=
0.67
~ Dmnl
"delta ( d )"=
0.99
~ Dmnl
~ |
"Exponential Discounting t - 1"=

IF THEN ELSE (Time = INTEGER (Time), Exponential Discounting t 1, Lagged Exponential
Discounting t 1\

)
~ Dmnl

Exponential Discounting t=
"delta ( & )" * "Exponential Discounting t - 1"
~ Dmnl

Exponential Discounting t 1= INTEG (
-Chge in Exponential Discounting t 1,
Initial Exponential Discounting t 1)
~ Dmnl

Initial Exponential Discounting t 1=
1
~ Dmnl

"Initial Real Lifetime Utility (U)"=
1
~ Uutil

"Initial Wealth ( W )"=
1000



~ Dollar

Lagged Exponential Discounting t 1=
DELAY FIXED( Exponential Discounting t 1, 1 , Exponential Discounting t 1 )
~ Dmn 1

Last Consumption=
IF THEN ELSE(Time = FINAL TIME - TIME STEP, "Wealth ( W )" / TIME STEP, 0)
~ Dollar/Year
~ |

Normal Consumption=
1
~ Dollar/Year

"Normal Labor Income (Y)"=
1000
~ Dollar/Year

Retirement Switch=
STEP (1, Retirement Time + TIME STEP)
~ Dmnl

Retirement Time=
58
~ Year

Util per Year=
1
~ Util/Year

R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R

.Control
Rk kb bk kb b b kb b b b b b b b b b b b b b b b b R b b b h b b b b kb bk bk kP

Simulation Control Parameters

FINAL TIME = 78
~ Year
~ The final time for the simulation.
|
INITIAL TIME = 18
~ Year
~ The initial time for the simulation.
|
SAVEPER =
TIME STEP
~ Year [0,?]
~ The frequency with which output is stored.
|
TIME STEP = 0.0625
~ Year [0,7?]
~ The time step for the simulation.

\\\---/// Sketch information - do not modify anything except names
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10,139, Initial Total Saving,1911,398,5¢,10,8,3,0,0,0,0,0,0,0,0,0,0,0,0
1,140,139,127,0,0,0,0,0,128,1,-1--1--1,,11(1909,426) |

10,141, Time to Chge Last Consumption,l1254,35¢,56,18,8,3,1,0,-1,0,0,0,0,0,0,0,0,0
1,142,141,22,0,1,0,0,0,64,0,-1--1--1,,11(1154,367) |

10,143,Time to Chge Cummulative Income,1753,406,68,18,8,3,0,0,0,0,0,0,0,0,0,0,0,0
1,144,143,111,1,0,0,0,0,128,0,-1--1--1,,11(1737,366) |

10,145,Time to Total Saving,1750,590,42,18,8,3,0,0,0,0,0,0,0,0,0,0,0,0

10,146, Time to Chge Cumulative Consumption,1712,791,44,27,8,3,0,0,0,0,0,0,0,0,0,0,0,0
1,147,146,117,1,0,0,0,0,128,0,-1--1--1,,1| (1723, 742) |
1,148,145,132,1,0,0,0,0,128,0,-1--1--1,,11](1743,549) |
1,149,58,84,1,0,0,0,0,128,0,-1--1--1,,11(1003,879) |



